BIdis k% 99  BEEBEA L LHEA LR

@ 1R £ 57

zgiﬁfﬁigﬁfﬂ%ﬁ“”ﬂ 368G % w &
RA]L FEELEZBABE AR FEEEARESR  TEAN I H - WwBRBZRLIEEMS &
REBLEMBSILBZBE  FLERFZHB/LI NS -
2. THERPXKAXEL -

1. (48%, 2% for each problem) iE4¥Af(select the correct answer): (A RBERR LR T A FEd)
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Z R B & 40 B Y Soey minimun spanning tree & % 20 edge #%?

A ~ O (log n) B ~ O@) C » O (wlogm) D - O(n?)

Selection sort % C A LT & B [ 48 2% (time complexity) &

A~ O(logn) B - O(m) C - O (nlogn) D - O(n®)

#8 ﬂ%ﬁﬁi#;(adj acéncy list) #5238 4 & 35 F 7| 71 48 B &9 48 #5 3 H(adjacency relation)?
A ~ complete graph

£ R o# 8| HEMBMH 3
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(3) | B~ sparse graph

C - condense graph

D - directed graph

3% 3 (assembler) & F 7 5 & (symbol (able) > B & f b :
A~ #itopcode & 0 #1 1 Z 4R

(4) | B~ #3%& %% 4 (symbolic name)g; % 2% 5 2 1 4 (memory'address value).
C -+ % mnemonic name, »% % opcode.

D - #3713 5% 2 (symbolicname) 5.4 maemonic name.

| Folr4 5 k@ r B2 @ T(n) = ST(—;—) + ©) 7
S |

A~ O(n™) B+ @(n?)
C~ B D~ 0’ logn)
ALUYEE B 5% a4 ok (data) » B BMATR AT ?
(6) | A ~ 44| ¥ 7 (control unit) B - b4k 77 5L 1 2 (RAM)
C ~ % 77 B (registers) D + k4% % (secondary storage)
BB EZ R

A~ REBE L EMEHERGORE

() | B~ #1885 8 FHH7 A1 5 & (packet)

C -~ #i4 # fu(digital) F b % $Etb(analog) B4 » RIBIRIE L T 5 B4 B4
D %EAHAHENKED B e
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£ % 742 A (multi-programming) & 48 ¥ % #t(operating systems) ¥ > T #1475 & € o #
®) IE 4 BT 2 #2 K- (process) By K & 7
A VOEH# 7 &, B ~ 4-Bt%| &4 8% i (time slice) A #
- BEVOFES - D PITRE
ISP(Intemet Service Provider) ;g%’a :
(9) | A~ 2#¥ A shared software ) E Bk B - 384 E A% M By S
C~ ®#HtEA #Hitk LEr@Engss Do SRR B RHES
* F) ¢hdatabases @47 N2 & 7
A ~ Primary key $t foreign key 2 &) if] #%(relationship)
(10) | B~ Field g2 field = &) il % (relationship)
C -~ Database $& table 2z T &4 ff] 4% (relationship)
D - Fields# table ) &) i #(relationship) _
%78 3 42 K Fl#H(concurrently) & Fl =48 @RGP /7o + FAEANR LB TR 4 ?
A - © J& 55 i (response time) 5
(11) | B - &84 5 % 3 % 8 4 75 B (time slices)i® &
C - 3 7 ) /E(paging operations)3¥ Ao
D~ % # % s8(system performance)i2 &
WA s P o T PR B PR TR
A~ AP 8 E R AMRYE ) — 248 3 0 ABESR R X ERETE -
(12) | B~ B Al Bt > SERE LI FWHBEF—LAEF -
C~ it i ik Bl 5 2 3 S8 2T R DAt B8 X ERE
D 48 @MBBNEE » HiE(eceve) TEFEBZ AT -
| 42 & B 49 85 (wide area network) F » 452 41 R (fopology) 2.8k A T FUAT ¥ 7
(13) !, A ~ semantic record B - routing table
C - opcode table D -~ hash table
M E e 88 (cache) 8 £ B h B AT 7
A~ FER X 32 0% 2 49 77 B BT[] (access time)
(14) B~ ¥iwRAM#®ZE
C - 2L & 8 AJ/# d (input/output) 8y ik B
D

~ Mo B Ry AR

(X #2 M £ # =




Bagss k% 99  BEFFEA R L LR
> # 3R ® 5 A

ERsE4 A
. OB R 3 6 B0~ i
B S £ 3 v A () & w &

—

£ % o# 8| FHEMBH |73

LEZARAD

ﬁ_}% AERE

WE AR T HCPUR BB A B BB+ 2 5105527 2 5 BB/ 50 8 15 1
(15) RBATRF ) RG> A | |

A ~ Bl F 4 (time event) B + 4-#F(time-sharing)

C ~ 8§ ] % #k(time-distribution) Do B Migic & (time allocation)

# 16 w3 (E0S)e H#fuk 8 Efkinik, %7
(16) | A ~ 7005 B - 345

€ ~ 3405 D - 1605

TCP/IP ¥ #4IP(Internet Protocol) @ HEdRahfc 47

A~ B#ERe T RS RN E T B R

(17) | B~ #RFTANRFR A T EZRLE 5130

C -~ s e sl M A 1932 8 (FF 27 8 A iles)

D ~ s 4RE PR A 1

ASCII A %18 bits R £+ —{8F 7

A5 B-6 C-7 N

— B ERERERIOM  EATHRAZIG A R eR e BB BEAH
(19) | % V4w (bit)?

A~ 20 B -~ 30 ", C~ 24 D-23

CPU#y #4718 % » K% & K BB fetch-decode-execute s IR /- & /5 447 » BB EH
AT &Y 2 > i85 A4 AR S 12 B (machine cycle) ¢ 35 B CPU € {77 2 #4iTfetchay ®y4% ?
(20) | (CPU4s 24 4038 & 2 R (fetch) 15,54 7)

1 (18)

A ~ X3 1% %8 (primary storage) By B2 20 0¥ (cache)
C ~ ¥ 77 % (register) D ~ #2 {45 4% % 77 % (program counter)
21 T 74T % R T AL & B H B idk(data bus) &) ST E?
A~ 16 B -~ 30 C~64 D~ 32
22) T Z4 & B R VT AE % B AT M P8 E K &Y 43 1k [ SR Bk (address bus) 5 E?
A~ 16 B~ 30 C~33 D~ 32
23) Z i fi = # B (two’s complement) & 7R ik 0 8 bits AR E R e KRB
A~ 256 B ~-255 C~-127" D~-128
(24) LA300dpifdA47 & - #reb4” x 67 #hAB K AR ISR > A EER IS

|A~2Mbytes  B~0.25Mbytes C - 1M bytes D ~ 5 M bytes
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2. (8%) # F %k ~(data representation)
AT 5 &Rk > 258 1B (8 bits) —#fu g5 11110100
| (2) (4%) signed magnitude
(b) (4%) 2’s complement (2 # )

3. (12%) £ X4/ ta % (compile/assembly)
RELF(SRALDE)

(a) (3%) lexical analysis

(b) (3%) parsing

(c) (3%) BNF

| (d) (3%) grammar _

4. (10%) #2 X %%/« 3F(compile/assembly) ; A
If the grammar foria simplified assignment statement is listed as follows:

1. <assignment statement> guii=. <variable> = <expression>
2. <expresSion> =\ <variable> | <variable>+ <variable>
3. <variableg> = x|y |z

(a) (5%) Can we parse the following, input string using this grammar? Why?

X=x+tyHz

| (b) (5%) Give a modified grammar to generate a correct parse tree.

5. (8%) EABM(bardware) =

(@ %) X BRg st an kst T — @M EH » A M B 3% % (machine language) P #H A 70 4 4
(instruction) > F] 8F fx K 77 7B X 3 1% B¥ % i (maximal addressable memory space)® 1GB » 3%
TR A iE B 2 45 4 % 77 & (instruction register) & & % /) 4 7T (bit) 7 #E 8 f7 A 5k 4 R,
(two-address format)z 3§ 4~ ?

(b) (3%) #5 & KE M 77 B (random access for RAM) $#1 & 4 f7 B (direct access for hard disk) i & A #4
£ 5| BT ?
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6. (14%) i@ % H (recurrence) 1 & ¥t %

“Tower of Hanoi”(;7 P38 )4a 18 & — AR Ep A B Aa g 3 F ©

ERTEBRTEH ML F—EWE > BEA —ATFAREBERET RAFLOH
RE(TERA3IRLBANTER) - AAERF LA R HE » ERRE P—REEHR
TATEREAASER - BAEBERBE LN+ wORYLER  #B -2 F KGR TF

) B—RETFBED —BEF > BTUERBIM(BA —REATREERRBHEHR) | &
FER RALEEASLR » BB EBTLBERTREE L -

EROET

| | | ()] | I i
A B C A B i

2) | I I (£} {4 I I I
A ] | A L] k A = 4

P e e N
BHRRARR B BREF LAAGRE UE P I EBER KR T
(D) BERAEEG—REH '
(2) By EHE - BAKIEH FReERADHERZL -
(@) 2%) H i A2 408 # k=) X (recurrence equation)
(b) (6%) A& sb X

(€) %) wH &H R HBH 12 BE LK > RARLTARERSS TR HBRBBES Y ?
(D) (@%) WwHEHAHBH 64> MuifT TR  #RRBHEI AR - (153t TR & B8R
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